n 0.05
@
2.045
©
2.,0.04
£
ggoss
=
E(los
©.025
£0.02
(&]
9,015
(9p]
0.01
0.005

Ratio

[
kS
T
'y
5
3
+

i -

iy

0.95

0 30 40 50 60 70 80 90 100
Pileup

—=— DQM_TT__original

—e— DQM_TT__mod_modelsdeep_truthfinal_modelTEST-25
—— DQM_TT__mod_modelsdeep_truthfinal_reg_altmodel TEST-29
—+— DQM_TT__mod_modelsdeep

_truthfinal_reg_modelTEST-24

YU.UO
Q@
9.045
©
2,0.04
£
3@035
=
E(IOS
©.025
£0.02
(6]
9.015
wn
0.01

0.005

it
P L ¢¢‘f‘¢¢"'¢?¢ﬁ 4 ?'?i,:

: : TG
- “ﬁﬁiﬁgﬁ

o

.:IIII

[N ERE

L 3 $ :

w IIII.””




	Contents
	Page 1


